Bjarnums BK

Partavling 2019-11-13

Partavling, 9 bord, 17 par. Antal brickor: 26. Medel: 181.9. Frirond (*) ger egen procent.

Plac Par Poéang % Namn MID Klubb
1 2 2253 61.90 Gert Fors - Per-Erik Pettersson 16982 10690 Hassleholms BK
2 1 2145 58.93 Christina Gutenwik - Bo Selander 6301 10057 Hassleholms BK
3 4 205.0 56.32 Mikael Edenklint - Kenneth Osterberg 13725 4700 Hassleholms BK
4 6 200.0 54.95 Lars-Ake Nilsson - Jan Nilsson 12667 4501  Hassleholms BK
5 5 197.2 54.17 Anna P- Johansson - Tommy Andersson 65253 15384 Hassleholms BK - Bjarnums BK
6 13 1928 52,98 Mona Mattsson - Lisbeth Rosendahl 30608 30600 Hassleholms BK
7 7 189.6 52.08 Bengt Nilsson - Lars Andersson 59107 50361 Bjarnums BK
8 15 182.0 50.00 Ann-Charlotte Nordbjork - Anders Nilsson 11212 13968 Bjarnums BK
8 17 182.0 50.00 Inga-Lisa Persson - Karin Andersson 50159 49977 Bjarnums BK
10 11 180.9 49.70 Jan Holmgqyist - Eddie Borg 80336 50362 Bjarnums BK
11 14 178.8 49.11 Lena Lindberg - Gunnar Wihlborg 30211 81644 Bjarnums BK
12 3 172.3  47.32  Edgard Nilsson - Inge Thurn 50168 50360 Bjarnums BK
13 12 172.0 47.25 Arne Wighagen - Bertil Svensson 80333 80338 Bjarnums BK
14 9 171.2  47.02 lza Erlingsson - Inga Svensson 30206 80337 Bjarnums BK
15 10 171.0 46.98 Ulf Jdnsson - Jan-Erik Eriksson 5876 30073 Hassleholms BK
16 16 133.3 36.61 Roland Andersson - Bertil Svensson 30213 30204 Bjarnums BK
17 18 124.6  34.23 Anders Svensson - Rolf Svensson 39152 26039 Hassleholms BK
1 4 DKn8 Basta kontrakt 2 4108 Basta kontrakt 3 4 Kn83 Basta kontrakt
Nord v 98743 34 O =-140 Ost v 10753 5¢ O =-400 Syd vED74 6¢ SD-5-1100
Ingen ¢+E5 NS ¢ 632 ov + D76543
#E102 & ¢ v & NT #E875 & ¢ v & NT ®- & ¢ v & NT
4 K5 4 E9762 N4 3644 4 Kn32 « KD97 N5 27 44 4 K5 41062 N1767S3
v 106 vEK S 436414 v EKn v D84 S527 44 vKKn1032 v- S1756 3
¢ KKn1032 ¢ 874 O 9 107 9 8 ¢ EK109874 ¢ D 08 115 9 9 ¢ EK ¢ 1092 O 125 7 6 10
+D976 #Kn85 vV 9 107 9 8 #Kn #109642 vV 8 115 9 9 #EK103 #DKn98765 V 125 7 6 10
#1043 « E654 4 ED974
v DKn52 v K962 v 9865
+ D96 4 Kn5 + Kn8
#K43 #KD3 *42
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 6 44 0-1 vQ 50 120 20| 2 10 1le V+4 48 -150 120 2.0|13 18 5NV-1 +3 100 14.0 0.0
12 18 34 O-1 vQ 50 120 20| 3 9 2NO+1 #2 -150 120 2.0(17 1 1vV+l 3 -110 120 2.0
17 13 34 0-1 vQ 50 12.0 20|12 18 2¢ V+3 &A -150 120 2.0| 3 11 54V+1 ¢3 -620 80 6.0
2 10 2vy N-2 s A -100 80 60| 5 6 20 V+4 o7 -170 70 7.0| 4 10 540+1 3 -620 8.0 6.0
14 1 24 0= vQ -110 60 80|14 1 3¢V+3 ¥5 -170 70 7.0|14 2 54V+l vA -620 8.0 6.0
16 11 3¢ V+1  v9 -130 4.0 10017 13 3NO= «K -400 40 100 9 15 3NV+1 &) -630 3.0 11.0
3 9 340-= vQ -140 20 120| 7 4 3NV+1 v5 -430 20 12.0|16 12 3NV +1 +3 -630 3.0 11.0
7 4 3yDN-3 &A -500 0.0 14.0|16 11 44 O+1 ¢5 -450 00 140| 6 7 3NV+2 ¢4 -660 0.0 14.0
15 - 7.0 15 - 7.0 - 5 7.6
4 4109764 Basta kontrakt 5 aE72 Basta kontrakt 6 4 E9 Basta kontrakt
Vast v75 7¢ ND-4-1100 |Nord vE109764 24 OD-1100 Ost v43 3¢ S =110
Alla ¢ Kn87543 NS ¢ KKn8 ov + EKKn1087
»- & ¢ v & NT *2 & ¢ v & NT #K98 & ¢ v & NT
4KKn8 45 N29090 4 D10954 4Kn6 N57 856 oK 4Knl06543 N 4 9 4 5 6
v 963 vEKDKn842 S 2 9 0 9 0 vDKn3 vK2 S57 85686 vKD9876 v EKn S 49456
+92 ¢ E10 O 9 4 104 12 +64 ¢ E1053 086577 ¢ 654 2 09 4885
#ED964 #1083 V9 4 114 12 *EK9 #D10765 V86577 #ED2 #Kn1064 V94885
4 ED32 4 K83 D872
v10 v 85 v 1052
+ KD6 + D972 + D93
#KKn752 #Kn843 #753
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
4 10 4v0O-1 ¢+Q 100 140 00|17 2 3NO-3 2 150 140 00|13 16 4v V-2 ¢K 200 13.0 1.0
6 7 54 N-2 vA -200 120 2.0|10 15 440-2 v8 100 120 20|14 3 44 0-2 vT 200 13.0 1.0
13 18 44DN-2 vA -500 100 4.0(13 16 3#0-1 v8 50 9.0 50|10 15 4¢ N= aJ 130 10.0 4.0
3 11 4v 0= +K -620 80 60|14 3 3aV-1 vA 50 90 50| 5 11 3vV-1 ¢A 100 8.0 6.0
9 15 4v O+1 ¢K -650 3.0 110 4 12 3vy N-1 ] -100 50 90| 9 6 3vV= +K -140 4.0 10.0
14 2 49 0O+1 +¢K -650 3.0 110 5 11 3vy N-1 aJ -100 50 90|17 2 3v V= ¢A -140 40 10.0
16 12 4v O+1 T -650 30 110 9 6 3#0-= v8 -110 20 12018 1 3v V= +K -140 4.0 10.0
17 1 49y O0O+1 ¢K -650 3.0 11.0|18 1 3s4V= vA -140 0.0 140| 4 12 5¢ N-3 vA -150 0.0 14.0
- 5 76| 7 - 7.3 7 - 7.3
7 4 ED8742 Basta kontrakt 8 4 E763 Basta kontrakt 9 » EK6 Basta kontrakt
Syd vE 44 S =620 Vast v 97 2NT V =-120 Nord v 1073 5NT O =-660
Alla + EKn93 Ingen 4 K9872 ov + Kn8653
»76 & ¢ v & NT #KKn & ¢ v & NT »84 & ¢ v & NT
493 4105 N59 6 108 4952  aKDKnl10 N47655 4832 4DKn5 N2 4232
vD1073 vK84 S5 9 6 108 v104 vEKD8 S47 655 vED4 vKKn85 S 24232
¢ 42 ¢+ D1075 06 37 34 ¢ ED63 ¢ Kn 0956 838 ¢ EK10 ¢ D2 O 119 111011
#EK542 #DKn93 V63734 D983 #10752 V9672838 #EK75 #DKn96 V 119 111011
& KKn6 484 410974
v Kn9652 v Kn6532 v 962
+ K86 + 1054 ¢+ 974
«108 *E64 #1032
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
6 12 44 N+1 &9 650 13.0 10|15 11 3v O-3 48 150 140 00| 9 10 6NDO-1 4A 200 14.0 0.0
15 11 44 N+1 &9 650 13.0 10| 1 16 3vO-2 ¢T 100 11.0 30| 4 17 6v O-1 49 100 12.0 2.0
1 16 44 N= 29 620 80 6.0(14 4 44 0-2 ¢T 100 11.0 30| 7 13 24 O+3 &7 -150 9.0 5.0
3 17 44 N= «Q 620 80 6.0| 5 13 3NV-1 +8 50 80 6.0[15 12 44 O+1 4T -150 9.0 50
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10 7 44 N= v4 620 80 6.0 3 17 2¢v 0= *T -110 50 90|14 5 2v0+3 T -200 6.0 8.0
5 13 14 N+3 #Q 170 20 120|118 2 3#V= v9 -110 50 90| 6 1 4NV+1 +3 -660 20 12.0
14 4 24 N+2 «Q 170 20 12010 7 INV+2 ¢7 -150 20 12016 2 5NV= 8 -660 20 12.0
18 2 24 N+2 & 170 20 120| 6 12 INS-4 *7 -200 0.0 14018 3 4NV+1l &A -660 20 120
-9 66| - 9 6611 - 7.0
10 49 Basta kontrakt 11 452 Basta kontrakt 12 4 DKn6 Basta kontrakt
Ost v 9876 64 O =-1430 Syd v D85 44 V =-420 Vast v E964 44 V D -3 500
Alla + Kn984 Ingen + KD92 NS + 875
#9643 & ¢ v & NT #10632 & ¢ v & NT #E43 & ¢ v & NT
« EK8732 «D10 N51412 +108 « EKD64 N2 36 33 » 842 « E1097 N66 9709
vK v E10532 S51412 v EKn4 v93 S23633 vD5 v Kn8 S66 979
+ EKD63 ¢ 107 O 8 119 1211 ¢ E10543 ¢ 76 O 119 7 109 ¢ DKn103 ¢ K62 076 46 4
*8 #KKn52 vV 7 118 1111 *Kn74 #EKD9 V 119 7 109 #KKn109 #D876 V76464
& Kn654 «Kn973 K53
v DKn4 v K10762 v K10732
+52 + Kn8 ¢+ E94
#ED107 #85 #52
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
18 3 64DV-2 +¢9 500 140 00|15 13 64 O-1 8 50 140 00| 6 14 2¢vS+1 +Q 140 120 2.0
14 5 3NV= v7 -600 120 20|12 9 3NV= +9 -400 110 3.0(16 3 2v S+l ¢Q 140 120 2.0
6 1 4e V= *4 -620 90 50|16 3 3NV= +9 -400 110 3.0{18 4 3v S= *J 140 120 2.0
15 12 44 V= v9 -620 90 50| 7 2 44 0= v7 -420 80 6.0 7 2 Pass 4.0 10.0
7 13 3NO+1 ¢5 -630 6.0 80| 6 14 3NV+1 v5 -430 4.0 10.0(10 11 Pass 4.0 10.0
4 17 464 V+2 ¢4 -680 3.0 11.0|17 5 3NV+1 v5 -430 4.0 10012 9 Pass 4.0 10.0
9 10 44 V+2  ¢8 -680 3.0 11.0|18 4 3NV+l &6 -430 4.0 10.0(15 13 Pass 4.0 10.0
16 2 64 V= ¢8  -1430 0.0 14.0|10 11 3NV +2 vQ -460 0.0 14.0(17 5 Pass 4.0 10.0
1 - 7.0 -1 83| - 1 8.3
13 & DKn5 Basta kontrakt 14 D9 Basta kontrakt 15 4972 Basta kontrakt
Nord vE76 44 O =-620 Ost v KKn987 64 O =-980 Syd v K65 34 V =-140
Alla + D963 Ingen + K106 NS ¢ EK
#Kn106 & ¢ v & NT #Kn93 & ¢ v & NT #Kn8753 & ¢ v & NT
+E3 » K10942 N25233 4643 4KKn10852 N 1 8 7 1 4 4EG5 4 DKn84 N8 4445
vK104  v9852 S25233 vED54 ¢2 S18711 vEDKn v108732 S 84445
¢1052 +E4 O 108 10108 ¢983 +E O 124 5 127 ¢ D975 ¢ Kn864 059987
#KD854 #E3 V 108 10108 #1062 #EKD85 V 124 5 127 #ED4  &- V59997
» 876 aE7 K103
v DKn3 v 1063 v 94
¢ KKn87 ¢ DKn7542 41032
#972 *74 #K10962
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
7 14 44 O-2 +8 200 140 00| 7 14 34 O+3 T -230 140 00| 9 4 3NV-3 &7 150 14.0 0.0
5 18 3NV-1 +6 100 11.0 30| 5 18 44 O+1 ¢Q -450 110 3.0| 1 11 2NV-2 3 100 120 2.0
9 2 2NV-1 +6 100 11.0 3.0|17 6 44 O+1 &7 -450 110 3.0|(17 7 3NO-1 3 50 10.0 4.0
11 12 INV+1 +3 -120 80 60| 9 2 44 0+2 &7 -480 60 80| 6 18 2v V= &5 -110 6.0 8.0
16 4 2NO+2 7 -180 6.0 80|11 12 44 O+2 vT -480 60 80|10 3 2vO= ¢ A -110 6.0 8.0
13 10 44 O= +8 -620 30 11.0|16 4 44 O+2 ¢3 -480 60 80|16 5 3¢ 0= *9 -110 6.0 8.0
15 1 4v 0= *2 -620 3.0 11.0(13 10 64 O= &7 -980 10 13.0|12 13 2v V+1 +A -140 1.0 13.0
17 6 3NO+1 #8 -630 0.0 140(|15 1 64 0= +Q -980 10 13.0|15 2 3vO= v9 -140 1.0 13.0
- 3 66| - 3 66|14 - 6.9
16 410 Basta kontrakt 17 4 DKn10853 Basta kontrakt 18 4982 Basta kontrakt
Vast v D92 64 V =-1430 Nord v7 3NT N =400 Ost vE873 54 S =650
oV ¢ E1075 Ingen + E654 NS + EK8
#108652 & ¢ v & NT *E9 & ¢ v & NT #1094 & ¢ v & NT
« EDKn954 4 K873 N56 212 +E76 294 N8 7 9909 4K103 474 N 5 115 118
vEK v Kn1083 S56 212 vD9 v K1084 S87 999 vD1062 v KKn954 S 5 115 118
* K2 ¢ Kn9 08 6 9 1211 + K872 ¢ DKn93 056 424 ¢75 +64 072822
#943 *EK7 V86 9 1211 #Kn1072 #D85 V561424 #Kn653 #ED72 V72822
462 4 K2 » EDKn65
v 7654 v EKn6532 v-
+ D8643 +10 ¢ DKn10932
#DKn »K643 »K8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
1 11 64 V-1 ¢A 100 13.0 10| 2 12 44 N+1 ¢9 450 11.0 3.0| 2 12 44 S+1  ¢7 650 10.0 4.0
6 18 74 V-1 ¢A 100 13.0 10|10 5 44 N+1 ¢Q 450 11.0 3.0|13 1 44 S+1 o7 650 10.0 4.0
12 13 4e V+1  ¢A -650 80 60|11 4 44 N+1 ¢J 450 11.0 30|14 9 44 S+1 &3 650 10.0 4.0
16 5 44 V+1 &2 -650 80 60|13 1 44N+l ¢Q 450 11.0 30|16 6 44 S+1 &5 650 10.0 4.0
17 7 54 V= v2 -650 80 60|16 6 44 N= ¢Q 420 50 90|18 7 44S+1 v6 650 10.0 4.0
9 4 44 V+2 A -680 20 12.0|18 7 44 N= ¢Q 420 50 9.0| 3 15 44 S= v6 620 4.0 10.0
10 3 54 V+1l ¢A -680 20 12014 9 4vS-1 *2 -50 20 12.0|11 4 5¢ S= +5 600 20 120
15 2 44 V+2 +A -680 20 12.0| 3 15 44 N-2 Ly -100 0.0 140(10 5 3NN-5 v4 -500 0.0 14.0
14 - 6.9 17 - 7.0 17 - 7.0
19 498 Basta kontrakt 20 4 ED Basta kontrakt 21 4983 Basta kontrakt
Syd v DKn109864 6y SD-5-1100 |Vast v 10965432 6v ND-4-1100 |Nord v D6542 3NT N =600
oV +8 Alla + 107 NS ¢+ E10
#752 & ¢ v & NT »107 & ¢ v & NT #EKn8 & ¢ v & NT
« EKKn1064 D7 N11711 a- » 8643 N118284 46 «DKn1075 N 9 8 8 9 9
v3 vE S11711 v EKn v K8 S11884 vKnl09 vK873 S$98899
¢+ D10 ¢KKn76532 O 11126 1111 | ¢KKn96543 +¢EDS8 0 12125 4 5 ¢ K854 +D72 034544
#K1098 #EDKn V 11126 1111 | #KKn93 #D542 V 12125 4 5 #96543 &7 V34544
4532 & KKn109752 & EK42
v K752 v D7 vE
¢+ E94 2 + Kn963
#643 »E86 #KD102
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
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14 10 64 V-1 +8 100 13.0 10| 7 16 44 S= *9 620 140 00| 4 1 3NS= *3 600 120 2.0
17 9 64 O-1 +8 100 13.0 10| 4 15 3NO -4 &) 400 120 20|15 5 3NS= 46 600 120 20
3 13 5¢ O+1 ¥5 -620 100 4.0| 3 13 34 S-1 ¢+5 -100 90 50|18 9 3NS= +5 600 120 20
4 15 44 V+1 +8 -650 80 60|12 5 34S-1 vA -100 90 50|12 7 3NS-1 *3 -100 6.0 8.0
1 2 44 V+2 vQ -680 30 110 1 2 3¢ V+3 aA -170 50 9.0(13 6 2v N-1 +Q -100 6.0 8.0
7 16 44 V +2 vQ -680 30 11017 9 3¢ V+3 aA -170 50 9.0(14 11 3NS-1 &3 -100 6.0 8.0
11 6 54 V+1 vQ -680 30 11.0(11 6 54DS-2 &9 -500 20 12.0|10 17 44 S-2 vJ] -200 2.0 120
12 5 44 V+2 vQ -680 3.0 11.0(14 10 3NO= aT -600 0.0 140| 2 3 44S-3 v] -300 0.0 14.0
18 - 4.8 18 - 4.8 - 16 5.1
22 « D108 Basta kontrakt 23 4109864 Basta kontrakt 24 4 K6 Basta kontrakt
Ost v Kn1062 4¢ O =-130 Syd v 642 ANT V =-630 Vast v ED43 5¢ N =400
ov + E1085 Alla + D654 Ingen + 108
*E6 & ¢ v & NT »8 & ¢ v & NT #K10862 & ¢ v & NT
4 EK 4964 N5 3888 4 ED32 4 KKn75 N8 4333 4 E95 «4DKn87432 N 11117 6 9
vEK93 ¢75 S53888 vE97 vKKn108 S84333 vK10752 vKn9 S 11117 6 9
97 ¢+KDKn642 O 6 105 5 5 ¢ E108 973 O 5 8 101010 + Kn93 462 022572
#98732 #105 V 6 105 5 5 #E63  #92 vV 58 9 1010 *E9 D3 V22572
4 Kn7532 o- 410
v D84 v D53 v 86
+3 4 KKn2 + EKD754
#KDKn4 #KDKn10754 #Kn754
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
10 17 1e S+2 vK 140 140 00|11 17 34 V-1 8 100 140 00|11 17 5¢ S= «A 400 140 0.0
4 1 44 S-2 vA -100 100 40| 1 7 3vO= &K -140 110 30| 1 7 44 S= A 130 11.0 3.0
13 6 3vy N-2 +K -100 100 40| 5 2 3aV= oT -140 110 30| 3 4 2&#N+2 v] 130 11.0 3.0
14 11 34DS-1 +9 -100 100 4.0|12 14 44DS-1 ©vA -200 70 7.0|15 6 340-1 ¢ A 50 70 7.0
2 3 3¢0= L JO) -110 50 9.0(18 10 34 O+2 &K -200 70 7.0(16 9 34V-1 +Q 50 70 7.0
15 5 2¢ O+1 &K -110 50 90| 3 4 4eV= »8 -620 20 12.0|12 14 54 N-1 v] -50 4.0 10.0
18 9 2NV= v6 -120 20 120|15 6 44 0= &K -620 20 120| 5 2 54DN-1 ¥9 -100 1.0 13.0
12 7 2¢ O+2 &4 -130 00 140(16 9 44 V= &8 -620 20 12.0(18 10 5#DN-1 vJ -100 1.0 13.0
- 16 51|13 - 7.4 13 - 7.4
25 » EKNn9865 Bésta kontrakt 26 4754 Bésta kontrakt
Nord vD1096 44 O =-130 Ost v EKKn1092 34 O =-140
ov + K Alla ¢+ E75
&54 & ¢ v & NT &D & ¢ v & NT
«D73 410 N357 86 4 KDKnl103 #E N22835
vK8 vKn753 S35786 v54 v 83 S22835
732 ¢+ ED104 O 108 6 4 6 ¢ Knl04 ¢ KD932 09 9596
#KD872 #EKn103 V 108 6 5 6 #E102 #K9875 V99596
& K42 #9862
vE42 vD76
+ Kn9865 + 86
#96 #Kn643
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 9 34N= «A 140 10.0 4.0(17 12 44 V-2 vA 200 140 0.0
6 3 34 N-= v3 140 100 4.0(18 11 5¢ O-1 v6 100 120 20
13 14 34 N= ¢A 140 100 40 1 9 3¢ 0+1 ¥6 -130 80 6.0
15 7 24 N+1  &T 140 100 40| 4 5 3¢ 0+1 v6 -130 8.0 6.0
17 12 24 N+1 ¢A 140 100 40|16 10 4¢ O= vQ -130 80 6.0
16 10 5& V-1 «A 100 40 100 6 3 34 V= vK -140 4.0 10.0
4 5 44 N-1 A -50 20 120|15 7 34 V+1 vA -170 2.0 120
18 11 44 O +1 42 -150 0.0 140|13 14 44 V= vK -620 0.0 140
2 - 8.7 2 - 8.7
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